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B&E-197 BEm ERETRHE 11,222 & 9.1 12.8 et i H184E LAB% =
FHE-198 BEm S &R 159,659 33 21.0 33 & g+ H184E LAB% =
HE-199 BEm IEELiE 37,875 & 16.3 63.0 T g+ H184E LAR% =
B &E-200 BEM HREETH 213,501 & 13.8 & & DD | HIBELUE =
B &E-201 BEm |LfWuETEELu| 18,807 & 10.3 203 T BT |HISE LG =
FH15-202 BEm |FEEEREE| 135067 b= 6.5 237 T BT |HISE LG =
FH#5-203 BEM B BT f R 24,575 b= 15.9 26.0 Tt BT |HISE LG =
F5-204 BEM B BT f R 28,133 b= 14.9 26.6 Tt BT |HISE LG =
EBE-205 BEm |LTWETEELIL| 140,630 & 215 98.7 et gt H18£E LAR% =
ERE-206 BEm |LfWBErdttiu| 55980 & 14.2 498 et BiEH  |[HISELIE =
B &-207 BEm {ERETEHE 62,343 & 18.1 66.1 et gt H18£E LAR% =
F#5-208 BEm JkOETkDO 45,833 b= 6.2 22.1 T BT |HISE LG =
EBE-209 BE™T m 11]:3p:%50) 43518 & 36 14.1 et BiEH  |[HISELIE =
EH-210 BE™ AKOBTSH#E | 157,830 b= 6.8 308 Tt BT |HISE LG =
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BE-211 BEm KOBTIAE 49,343 & 9.6 344 et BiBH  [HISELIE =
H5-212 BE™W KOGS[ 63,325 b= 9.4 20.0 Tt BT |HISE LG =
H5-213 BEm sk OETLL 21,361 b= 6.3 17.2 T BT |HISE LG =
BE-214 BEm KOET/\H 48,359 & 10.7 18.4 et gt H18£E LAR% =
BE-215 BEm KOET/\E | 174,027 T 6.8 45.7 et i H184E LAB% =
BE-216 BEm KOBTIAE 3,170 & 9.3 11.6 et BiRH  [HISELIE =
BE-217 BEm KOBTIAE 4,354 & 11.2 125 et BiRH  [HISELIE =
BE-218 BEm 5 BTRR 15,298 & 115 225 et BiRH |[HISELIE =




